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M UK Hef FX(AY - SAILL0IU X/ XL X200
=l oiHX 2 ¥ sS35t (S &)
2A - BB CR(BIH) - MIRAY - BAS Ofl ko4 /I HRE2
UI[EPNESESN]; 10,673,606 9,091,747 1,581,859
= 2,391,110 2,379,860 11,250
s 594,244 625,520 A31,276
(== 486,929 277,109 209,820
Al 7,201,323 5,809,258 1,392,065
(t)éill)jll Hek FE(AY - S L L0 X/ 0l XL X2 K 58,760 8,760 50,000
HUX ZeF & 255t 58,760 8,760 50,000
KIS0l LA X H = 50,000 0 50,000
207 A1 IHE] 50,000 0 50,000
01 HEAH] 50,000 0 50,000
OXISUXIHE >3
50,000,000 * 14! 50,000 0 50,000
Q;EH*CWIHXI S - SAIS LI/ 0l L KT XHOH 4,932,096 3,532,09% 1,400,000
= 1,985,860 1,985,860 0
= 223,493 223,493 0
Al 2,722,743 1,322,743 1,400,000
ATHAUUX 25 2ot & X 4,932,096 3,532,096 1,400,000
= 1,985,860 1,985,860 0
= 223,493 223,493 0
Al 2,722,743 1,322,743 1,400,000
O==otE SASAIIY RE100 KR AL 1,400,000 0 1,400,000
403 MHXISHMS 201 1,400,000 0 1,400,000
02 B2 SHICHEH A2 X L EFALS I 1,400,000 0 1,400,000
O0l==ateh =4 - S| RE100 K2 A (=
D ESRSONECD 1,400,000,000& * 14 1,400,000 0 1,400,000
OILIX 2te] & 23J18F &4t - SAI LU XI/0l 3,215,034 3,084,622 130,412
LRI RH2OHE)
= 405,250 394,000 11,250
s 594,244 625,520 A31,276
= 263,436 53,616 209,820
Al 1,952,104 2,011,486 259,382
HEE UK 2= K& 3,215,034 3,084,622 130,412
= 405,250 394,000 11,250
= 594,244 625,520 A31,276
= 263,436 53,616 209,820
Al 1,952,104 2,011,486 ABQ,382
SADEA St S KA 755,000 500,000 255,000
= 208,000 0 208,000
Al 547,000 500,000 47,000
402 QI2EHE01 & 755,000 500,000 255,000
[ 208,000 0 208,000
Al 547,000 500,000 47,000
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M WX 22l 2 B30I EE(AY - SAIS L0 X /0 XL XHR )
Chel: HEX HUHA 22 AH (Cte M)
SA - B A(SH) - MSAY -8 Oil &4 JN & A Hws2
01 QIZEXHE2 AR 2 2 (KM THE ) 0 500,000 A500,000
OZAIJIA St &t X2
38 03 0 500,000 A500,000
02 QIR SAIEE X (0IE =) 755,000 0 755,000
OEAIDIA SStHi2 &t X2
755,000,000 *14 755,000 0 755,000
== 208,000 0 208,000
Al 547,000 0 547,000
& DISH2 LPGAIE A=A 1,658,954 1,821,042 A 162,088
s 594,244 625,520 A31,276
T 50,936 53,616 A2,680
Al 1,013,774 1,141,906 A128,132
402 RIZHXH=0IA 1,658,954 1,821,042 A162,088
s 594,244 625,520 A31,276
< 50,936 53,616 A2,680
Al 1,013,774 1,141,906 A128,132
03 QIZHREF AL I 1,658,954 1,821,042 A 162,088
Od DISE?| LPGAIE #= 848,920 1,821,042 AQ72,122
ogl 22i0tE B 424,460,000 424,460 816,344 A391,8%4
s 297,122 312,760 A 15,638
= 25,468 26,808 A1,340
Al 101,870 476,776 A374,906
oSME S0t
dE 424,460,000 424,460 1,004,698 580,238
s 297,122 312,760 215,638
= 25,468 26,808 A1,340
Al 101,870 665, 130 A563,260
Od D=l LPGAIE 25 810,034 0 810,034
ot &2t (XHAl)
321,455,000& 14! 321,455 0 321,455
oSS SZO0IS(XHA)
488,579,000 14 488,579 0 488,579
NRIE JtAHEEI 23 65,000 50,000 15,000
= 4,500 0 4,500
Al 60,500 50,000 10,500
403 X SHHMSA=01H 65,000 50,000 15,000
= 4,500 0 4,500
Al 60,500 50,000 10,500
02 S| 2SHICHEH A2 X 2 EFALS Y] 65,000 50,000 15,000
OME JIAHMEXI(EHOIDZ) ES ALY
60,0002 *2500++* 15,000 0 15,000
& 4,500 0 4,500
Al 10,500 0 10,500
LPGEI| ALt Al2HE AN 22,500 0 22,500
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I OIUXl 22l W BB SE(AY - AT LYK/ KILIRINL)
oelr HEA WX 32 X~ (Et9 &2l
2A - B -22A(3) - MRAY - BES Ofl &bt 3o HlwE2
= 11,250 0 11,250
Al 11,250 0 11,250
408 KIXISHHI S RH20I & 22,500 0 22,500
= 11,250 0 11,250
Al 11,250 0 11,250
02 BII2ASOICHEHKH 2 X A ETAI 22,500 0 22,500
OLPGEI| AFZIIR AIENE ALY
225,000 1000+ 22,500 0 22,500
2 11,250 0 11,250
Al 11,250 0 11,250
PSS (OHXIZ D) (A - SAILLOEXI/OILXIY 1,447 0 1,447
XH2Hee)
BES 1,447 0 1,447
ERSPAE 1,447 0 1,447
802 BHet2IIEL 1,447 0 1,447
EINEES=EC = 855 0 855
02021 DF2EH?| LPGHH2HY RIIAFR OIXE
456,050 2 %14 457 0 457
020234 LPGEI| AFZII? AIZMHA ALY 398 0 398
o AHS TN 21,6002 %14} ez 0 22
0l Xt 375,460 21 % 14! 376 0 376
2 Al - CHEZ3E2 592 0 592
020234 AQIS JIACHR A (EHOIDIR) 23
A 592 0 592
S AR &K 586,275 % 14! 587 587
<O0IXt 4,580 %14l 5 5




